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QUESTION 1

A column mask is defined on TB_A. Which statement runs successfully? 

A. SELECT \\' FROM TB_A UNION ALL SELECT \\' FROM TB_B 

B. SELECT \\' FROM TB_A INTERSECT SELECT * FROM TB_B 

C. SELECT \\' FROM TB_A EXCEPT ALL SELECT \\' FROM TB_B 

D. SELECT\\'FROM TB A INTERSECT ALL SELECT * FROM TB B 

Correct Answer: A 

 

QUESTION 2

A member of a data sharing group is suffering from elongated response times. You suspect that sysplex workload
balancing (WLB) is not working properly for the DDF work (not evenly distributing the work among the different
members). 

What is the simplest way to verify how the DDF threads are distributed amongst the different members? 

A. Execute the-DIS GROUP command. 

B. Execute the -DIS DDF DETAIL command on each member. 

C. Execute the -DIS THDO DETAIL SCOPE(GROUP) command. 

D. Executed the -DIS LOCATION(\\') DETAIL command on each member. 

Correct Answer: B 

 

QUESTION 3

A member of a DB2 data sharing group (DB2A) has failed and is currently down. After a few minutes the phone starts
ringing and people complain that transactions accessing table space TSA (in database DBA) get an SQLCODE -904
because of retained locks held by the member that just abended. 

What is the recommended way to resolve this problem? 

A. -START DB(DBA) SP(TSA) ACCESS(FORCE) 

B. Restart the failed DB2 member with the LIGHT(YES) option. 

C. Delete all the failed persistent connections to the lock structure with the
SETXCFFORCE,CONNECTION,STRNAME=lock_strname.CONNAME=ALL command and force the deallocation of the
lock structure by issuing SETXCFFORCE,STRUCTURE.STRNAME=lock_strname 

D. Issue the MODIFY irlmproc.PURGE. DB2A command from an IRLM that is used by a DB2 member that is still
running.} 
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Correct Answer: C 

 

QUESTION 4

You wish to enable automatic clean-up of committed pseudo-deleted index entries for all indexes in the DB2 subsystem.
You have verified that system table SYSIBM.SYSINDEXCLEANUP has no rows. 

Without taking any other action, which action will accomplish this? 

A. Set subsystem parameter INDEX_CLEANUP_THREADS to 10. 

B. Set subsystem parameter INDEX_CLEANUP_THREADS to YES. 

C. Issue an ALTER INDEX statement against all indexes with ERASE YES. 

D. Issue an ALTER INDEX statement against all indexes with FREEPAGE 0. 

Correct Answer: A 

 

QUESTION 5

Which statement about the castout process in data sharing is true? 

A. The castout process is initiated by the coupling facility. 

B. The castout process is performed using BPO of the less active member of the group. 

C. The castout process is performed by the first member to express write interest in the data set. 

D. The castout process is performed using a private buffer pool in the first member to join the group. 

Correct Answer: C 

 

QUESTION 6

You wish to enforce a system-wide limit on the maximum number of parallel subtasks for utilities REORG
TABLESPACE, REBUILD INDEX. CHECK INDEX. UNLOAD, and LOAD, to 16 parallel subtasks per utility execution. 

Which action, if any will enforce this limit? 

A. Set subsystem parameter PARAMDEG to 16. 

B. Set subsystem parameter PARAMDEGJJTIL to 16. 

C. Set subsystem parameter INDEX_IO_PARALLELISM to 16. 

D. DB2 does not allow for a system level limit for parallel subtasks in these utilities. The limit can only be specified with
the utility keyword PARALLEL n. 

Correct Answer: A 
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QUESTION 7

Which subsystem parameter setting allows connection queuing? 

A. IDTHTOIN>0 

B. CONDBAT>0 

C. POOLINAC>0 

D. MAXCONGN > 0 

Correct Answer: D 

 

QUESTION 8

Which command can be used to adjust the system checkpoint frequency? 

A. -SET LOG 

B. -SET ARCHIVE 

C. -ARCHIVE LOG 

D. -RECOVER BSDS 

Correct Answer: A 

 

QUESTION 9

Which combination of subsystem parameter values will enable connection pooling for idle distributed database access
threads? 

A. Specify subsystem parameter CMTSTAT = ACTIVE and set CONDBAT = MAXDBAT. 

B. Specify subsystem parameter CMTSTAT = INACTIVE and set CONDBAT 

C. Specify subsystem parameter CMTSTAT = ACTIVE and set CONDBAT > MAXDBAT. 

D. Specify subsystem parameter CMTSTAT = INACTIVE and set CONDBAT >MAXDBAT. 

Correct Answer: C 

 

QUESTION 10

The ALTER BUFFERPOOL command specifying the AUTOSIZE(YES) option enables DB2 to use WLM services to fine
tune the buffer pools. 

What is the result of issuing this ALTER? 
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A. The immediate write threshold can be increased by 25%. 

B. A pool size can be increased by up to 25% over original pool size. 

C. The pool size can be increased in 25% increments base on sequential read hit ratio. 

D. Depending on the type of I/O performed, pool size can be increased or decreased. 

Correct Answer: B 
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